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2. HEHEE (BR2BET)

2.1 BREFHT
M BEE
tHMIGERLVETE A E
3820
200 3420 200
2-L130x130 279 270
2-L100 % 100 j
3 [ T
59 L -
Uo)q) 3 L% ﬁ —l\i { § .
B §$%\Q\ ﬂ&%\i gl @
g G 5
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() ZEmE (InK = Y)
“tHT 1-200x 100x 7% 10

A= 0100 x 3 + 0.200 x 2 = 0.700 m
M 4-L75x75x9
A= 0158 x 3 + 0.300 x 2 = 1.074
THEHE 2-150 x50
A= 0.108 x 2 + 0.050 x 2 = 0.316 m

E5%Z# 2-L130x 130 2-L100 x 100
A= 0210 x 2 + 0210 x 2

+ 0.250 x 2 = 1.460 m?

Ta&#r 4-L100x 100

= 0215 x 4 + 0.206 x 2 = 1.272
SAE#H 2-L125% 75
A= 0158 x 2 + 0.125 x 2 = 0.566 m
#441 (BHER) 2-1L150 % 100
A= 0215 x 2 + 0.150 x 2 = 0.730 m
##+ 2-L125x 75
A= 0158 x 2 + 0.125 x 2 = 0.566 m

Q) ZzEmE(RXLEY)

1) it HT
L = 28.600 N= 4
A= 0.700 x 28600 x 4 = 80.08 m*
2) 1T
L = 4.000 N = 11
A= 1074 x 4000 x 11 = 47.26 m’
3) THEHE
L1 = 4.190 Nl = 4
L2 = 4.530 N2 = 16
Al= 0316 x 4190 x 4 = 5.30 m’
A2= 0316 x 4530 x 16 = 2290 m’
At 28.20 m’
4) L%t
L1 = 4.000 Nl= 2 x 2 = 4
L2 = 22.400 N2 = 2
Al= 1.460 x 4.000 x 4 = 23.36 m’
A2 = 1.460 x 22.400 x 2 = 65.41 m’
At 88.77 m’



5) T5#t

L = 28.600
A= 1.272 x 28.600
6) $nE+1
L= 2710 ~ 3.
A = 0.566 x 2.900
1) #%4 (Sm#R)
L = 3.500
A= 0.730 x 3.500
8) #H
L = 3.500

A = 0.566 x 3.500

9) PL-950 x 950
A= 0.950 x 0.950

10) PL-440 x 790 (222 &5 FH)
A = 0.440 x 0.790

11) PL-330 x 100 (ZB4£ &1 BH)

A= 0.330 x 0.100
12) PL-250 x 710
A= 0.250 x 0.710
MMM BEESE
A1 = 80.08
A2 = 47.26
A3 = 28.20
Ad = 88.7]
A5 = 72.76
A6 = 29.55
AT = 10.22
A8 = 23.71
A9 = 1.22
A10 = 2.18
A1 = 0.53
A12 = 2.13

030 ( 5 2.900 )
N= 9 x 2 = 18

-+ 1) HEAT
Akt
---3) THEE
-+ 4) E5RH
-+5) Ti%#t
-+ -6) SREM
- T) F4%F ()
--8) B4t
-+9) PL-950 x 950
-+10) PL-440 x 790 (ZBR 45 i)
-+ 11) PL-330 x 100 (ZB £ &1 FH)
-+12) PL-250 X 710

72.76 m’

29. 55 m’

10. 22 m?

23.77 m’

7.22 m

2.78 m

0.53 m’

2.13 m

393. 3 m’




2.2 BERET
BhEEM e B
IHRITHERLYETE

5 3% A i 1 (1 195 3 AR T 1

0 Brs&i L=26. 70m

A 2N
L50 x 50 L50 x 50 $20

740
740

v /-

5 &M S AE B g A
L50 x 50 L50 x 50, N=1974
BHe&M L = 26.700 x 2 = 53.400m
3 #% (L50 % 50) h = 0.740
N= 19 4+ 19 = 38
A= 0050 x 0.740 x 4 x 38 = 5.62 m’
% AR (L50 x 50)
A= 0050 x 26.700 x 4 x 2 = 10.68 m
TE#% (¢ 20) N= 2 x 2 = 4
A= 0020 x 3.14 x 26.700 x 4 = 6. 71 m’
=18 23.0 m



3. HEHMHEE (REI)

3.1 BERI5

ERHER S Y EE
7Y RISE
A = 3.820 x 23.000
E3] B35
(HES 7 WER
FEIERRE)

3.2 ImZEE RS
RERETER & YERE

{8 2 15 EiE

A = 3.020 x 23.000 x

RIm R EE

87.9 m

138.9 m




